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7 == =Y HEYA HME7EE | 7z o} 7|7+
Ao = -

M7 CheIX| Pro = H|H 4,490,000 274,500 898,000 24744
=M BH) 7| Ha2l A2|E Pro HHEH|H 5,250,000 312,500 1,050,000 24718
Z M7 oto| HD HHEH| M 1,700,000 135,000 340,000 24718
=M= HE HD HHEHIH 790,000 79,000 158,000 1270€
7|Et 2 E[AL CI2Z20]2 7t7t o =ojoto| Hz|ot 3,593,000 229,650 718,600 1270€
ZERRHEET| 22|ePM G (Sorian Thunder) oL AEH|H 3,780,000 239,000 756,000 24718
=M= 0| = (Mezzo) oL AEH|H 3,450,000 222,500 690,000 2471 ¢
=M= H| 2 (Veo) FO|LAEH|F 3,580,000 229,000 716,000 24718
=M= 22|QHE 10.1(Sorian Tab) FOLAEH|F 2,700,000 185,000 540,000 24718
QIE{m| 0] & 22|t HFY /W FOJLAEH|H 730,000 73,000 146,000 1270
HREE Ty SEEHYY FOJLAEH|H 5,500,000 325,000 1,100,000 24708
e EAEEY 22|HME2 FEOLAEHH 5,100,000 305,000 1,020,000 24718
=M= 22|2HE2 FEOLAEHH 3,700,000 235,000 740,000 24718
stHEGES/W A2l H|o|E] EAAHIHHIEZ2X] 2,900,000 195,000 580,000 24748
stHEGES/W MA2|E H|o|E AAHMHIEZX 350,000 35,000 70,000 1270
steg=Es/w dAg|h o Yae FHAAHHH I EZ2X 985,000 98,500 197,000 1270€
AlZt St ES/W Aao|=g MAR|E(P2N) Y AH MEH A =2 X 300,000 30,000 60,000 1270
stHEGES/W A o|EE WAZ[T(B2N) AAHHHIASZX| 600,000 60,000 120,000 1270
HAEE o RIENE(T EAHEAR A Of 5,800,000 340,000 1,160,000 24748
HREE ) challe OfY G RHA S A Of 5,000,000 300,000 1,000,000 24718
AR gy staylu2 #HE G H A A Of 5,390,000 319,500 1,078,000 24718
ESpS =[] AEYY G LA AT Of 3,900,000 245,000 780,000 24748
=M= ZHCl6 G LA AT Of 990,000 99,000 198,000 1270
=M= AR G H A A Of 3,300,000 215,000 660,000 24718
=M= MARHN =2 G HA S A Of 3,900,000 245,000 780,000 24718
EME 7| a3 EMHEA S A7 Of 4,400,000 270,000 880,000 24718
ZERRHEET| HEY G LA AT Of 3,600,000 230,000 720,000 24748
R A ET| 27 oroj2|gf SE G H A A Of 3,900,000 245,000 780,000 24718
R A ET| 24 2= G HFA S A Of 2,200,000 160,000 440,000 24718
Gl0|X| Z2j0]0f MopE3 G LA AT Of 990,000 99,000 198,000 1270
7|E} gokd ototAtE FAZ| AL A E0|ot0] 5,100,000 305,000 1,020,000 24708
M7 YstE o|x|A 2E7} FAZ|AL A= oloto] e 5,400,000 320,000 1,080,000 | 247H¥
B EXIEE 7| Yst& =Holm ZAZ|AL A Eo|o}o] il 4,700,000 285,000 940,000 24744




e ZHRIFEF(R) AS

S8 = e cEei| N | MBI UERE ] o0 |5
SAAIS T usta E|E ZAB|AL A E0[0}O] 650,000 65,000 130,000 1270
E{ % 2 L|Ef yste ol BX| 2L E 3290% ZAIB|AL A= 0|0}o] 980,000 98,000 196,000 12702
olE{H 0] A 224 2to|H ZAB|AL A E0[0}O] 500,000 50,000 100,000 1270
SAEh| Oto|2{& 13 FULL HD GLRLET s 3,380,000 219,000 676,000 2474¢
SA 7] ofo|a1j%1§l 1261'1%‘&(2;)&15 GLRLET siet 3,880,000 244,000 776,000 24744
=x 27| otol2{s M;ixﬁf;;)\% (otolf M oh T 3,880,000 244,000 776,000 | 24742
S A=ty CIX|E XL FHD 12 GRC|QIE LA 1,950,000 147,500 390,000 24708
=AM &y 7| H|2|2 C|X|E FHD 16T EySIC| QI LY A 3,200,000 210,000 640,000 2471
=M 37| oJAZ Z8HD AT I LA L k=) 1,650,000 132,500 330,000 2471E
SM 7| ZW7HD FACIQEH LA ol 1,650,000 132,500 330,000 2471
=M 37| 2T 10HD AT I LA L k=) 2,000,000 150,000 400,000 2471E
SM 7| 22H10HD FACIQEH LA ol 1,750,000 137,500 350,000 2471
SAEh| 2 EH{Book Pro EEICIAIE L siet 3,300,000 215,000 660,000 24714
SM 7| ZRCXAYETR FACIQEH LA sl 3,650,000 232,500 730,000 2471
=S| 2H|5X. HD EBIC|QIE LA 1,300,000 130,000 260,000 2471 €
=AY 2H|10 HD GBI QI LA 2,000,000 150,000 400,000 24701 €
SA 7| 2|16 FEACIAEH ML 3,350,000 217,500 670,000 2470 €
SA 7| #l2|2 C|X|¥ FHD 22T FEACIAEH ML 3,300,000 215,000 660,000 2470 €
= A &l 7| oAZz5 HD EBIC| QIE LA 1,150,000 115,000 230,000 24708
SA &l 7| AAZ212 HD FEACIAEH ML 2,200,000 160,000 440,000 2470 €
SM 7| Z6 HD FACIQE LA ol e 1,650,000 132,500 330,000 2471
SMe 7| 2286 HD FRCIAE LA 1,300,000 130,000 260,000 2474¢
SM 7| 22/0{% C 24 HD FACIQE LA ol e 3,700,000 235,000 740,000 2471
Ef%| 2 L& 242X HE[=H HX|ZLH w®E7|1Y7| 630,000 63,000 126,000 1274
Ef%| 2 L& 272X ZE[= HXZLH w®E71Y7| 830,000 83,000 166,000 1274
QIE{H 0] A ool iiﬁezm(w one FABIAL HAEX] 730,000 73,000 146,000 1274
Ef{%| 2 L E] 240X ot = E{X| 2UH (R)mt2tCto| A5 X| RY 600,000 60,000 120,000 1270E
Ef%| 2 L& 272X ot = BX| 2UH (R§)ItetCo A= K| R 830,000 83,000 166,000 1271
st REET| 27-0tojoo| otAH |G (R)mtatcro A 2 x| K e Cli=s 4,600,000 280,000 920,000 2474 ¢
iz AMAGHERI2HA 0] 7) FHHEZR 1,290,000 129,000 258,000 2474¢
S A&7 229 42 FHHERR Cli=s 3,600,000 230,000 720,000 2474¢
StHES/W 229 2/g FHRAHEZR 1,400,000 140,000 280,000 2474¢
S A&7 229 ¥ FHHERR Cli=s 4,000,000 250,000 800,000 2474¢
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'Igl'ooi ﬁ x-“EI:IO:‘ 'E!'Egi{x'” /é"_—éll_ X1|E7|'—| 7|_7|:_Ta' olH} 7|7|_I'
= = -
A
E{ x| 2 L Ef 2491 K| 2 LIE| LED TV FHE7|YT| 630,000 63,000 126,000 1270
E{ x| 2 L{ £ 27Q2X|ELIH LED TV HE7|Y7| 830,000 83,000 166,000 12744
EoleA EA-1 EZOFRA 7| oj2to| = A 2| Ot 600,000 60,000 120,000 127112
Explea EA-2 E2Or2A # oj2to|Z A 2| oty 900,000 90,000 180,000 1270
EfolA A ZA ORA Floj2to| = A 2|otey) 1,400,000 140,000 280,000 2470 &
EfoleA ZAEl OIRA Flojeto|=a2|otgy | SHE 2,500,000 175,000 500,000 24702
EfoleA Qllofjo| 22 = 0| AE 7| ojato| = A 2| Ot 570,000 57,000 114,000 127112
S50peA OO S HEME 7 0j2to| = A 2| Ok 522,000 52,200 104,400 1270 &
Exple A IR OfA A ojzto|=A2|otegy | sHE 3,000,000 200,000 600,000 | 247H¥
Exppe A OlE| 120t RAZ A 2H| k= 3,600,000 230,000 720,000 2470 &
EFoieA S| EOR AL ME 2| k= 2,600,000 180,000 520,000 2471
x| #/ ]
E0ffA ZO|AEIDIRA(ZRA ) 2H| = 2,800,000 190,000 560,000 | 2470¥
Lo
EMMET| ADFEX|Z10]2 L QA|A FAIS|AL 300,000 30,000 60,000 127112
MMz AOFEAS Y| #Hojzto|Z= A 2|0t 420,000 42,000 84,000 12708
E{ x| 2 L E 272K HE[HA|ZL|H (KW IO A =K RHE 830,000 83,000 166,000 12742
E{ x| 2 L Ef 240K HE|HX|ZL|E/TV | (RHTRRHIOIASKIRCH 600,000 60,000 120,000 1270
Exyge F|REQI|7IE (RN | A2 X RHE 95,000 9,500 19,000 12704
EPSIEYN 2712 oA (KRR HCRO|AER | RYEH 200,000 20,000 40,000 1270
Explea B oA (RIIRRICo| A2 X RHE 332,000 33,200 66,400 12704
OLZAOQIAY_AQIK| = EH °
EfpleA CranpP22- 29 Isf’ = (RN If2HCHO| A2 X RHEH 900,000 90,000 180,000 1270
(HIO|E, &7t 4 ¢ 12 R)
OLADI AD_EH K| MA, A .
EPSIEYN rgipe22-EX, A, (R ZI2HCRO|AER | RYEH 950,000 95,000 190,000 1270
K| El1
Explea OLATIR AP SZ ALK (K2 ICRO A SR RYEH 1,050,000 105,000 210,000 | 247H¥




= THRISES(E) AS
<8 22 HEY HEet e | AEE 7|£¢a ot | 72t
OAAERZT|T| EJES: AR 770,000 77,000 154,000 24718
OIMASEZET|T] HO|A™ PRO FHAFRR 970,000 97,000 194,000 24748
loj=#s/w 22| Xt (for Pad) AR 940,000 94,000 188,000 24718
IPNERE SR b Oro|E7|A0LE EE|EAIZ{AZ O} 800,000 80,000 160,000 1270€
loj=#s/w st E| EAIZ{AZ O} 960,000 96,000 192,000 1270€
S| ADLEH|FE  SMV-3000 FEMEYEEM 730,000 73,000 146,000 1270€
ST ADIEH|IFE 22¥ FUEEESY 950,000 95,000 190,000 1270
FMMz7| Rz E7| HFE FUEEESY 550,000 55,000 110,000 1270
ST NES FH232E FMEIFHFLAOIM= 990,000 99,000 198,000 1270
AL EEZET|7| EgE FEMNAOICIZE & 990,000 99,000 198,000 1270
OAAEEZT|T| EZE20 Mot gRI|E 1,320,000 132,000 264,000 24718
AojzEs/w 20 K| 0] 2f FHERATZE 980,000 98,000 196,000 1270€
AojzEs/w 2K 02 & FHERLZE et 1,800,000 140,000 360,000 24718
OAAEEZT|T| 7| =HO[AADIE FH|F e 880,000 88,000 176,000 1270€
AL EEHZET|7| I|=EHO|AER FHIF TS 880,000 88,000 176,000 1270
2857 AR E(Nsound) SZ0[H 748 OLo[H| M 920,000 92,000 184,000 1271
EWES-$ Oj”%ﬁji%g)\‘”“”d g 0to|H| M 920,000 92,000 184,000 | 12742
OAAEHZT|T| 2H2 & Bo|E FHLEEREER 900,000 90,000 180,000 1270€
Bzt
/ 7|Et E[¥ZN FAIZ|AL S{EE| s 2,200,000 160,000 440,000 24718
0} 7|E} BIYEESS FA AL S EE| 980,000 98,000 196,000 1270
7|E} AIXIAE Ol F FAZA S EE| = 2,300,000 165,000 460,000 24748
Hoj2AES/W AD (0f0]E) FAZA S EE| 980,000 98,000 196,000 1270
Hoj2AES/W AD PLUS (O0|E E2{2) FAZA S EE| gt 1,950,000 147,500 390,000 2471 €
OAAEEHZT|T| fE= g7/ 870,000 87,000 174,000 1270€
loj=#Es/w ggg—gﬁﬂé e 900,000 90,000 180,000 1270€
FMMz7| HH[AOlE M=o ME 7 of{2to| =R 2| ot 980,000 98,000 196,000 1270
FMMzT| il 7 of{2to| = A 2| oty 690,000 69,000 138,000 1270
S8-2X gt o
AOtESHH MARRE ME O A1 E 00| A M & e 1,900,000 145,000 380,000 24718
loj=#Es/w 200 22 A0{EE PAD FollF A 790,000 79,000 158,000 1270
AL EEZET|7| E[7|EI-E & FHOOfAIRE = 4,000,000 250,000 800,000 24748
AL EEZET|7| E|Z|EFHM & FHOOARE g 2,000,000 150,000 400,000 24748
OAAERZT|T| oh &S AMAAC FEANZeLSATA 960,000 96,000 192,000 12708
AojzEs/w oojzH g 28t SW K-SWITH FARA o 720,000 72,000 144,000 1270€
Ao gEs/w @m’%glg,xﬂ%‘niilﬂ FAIZIAL 0f 2 990,000 99,000 198,000 12708
Ao ZEs/w Oof 2 Q10]-QIX] 2 1{7|X| FAIZIAL 02 1,320,000 132,000 264,000 1270
SMHEE7| 2 2 iN& M7 A (f)A&cHER 2|0t g 2,200,000 160,000 440,000 2470€
FMMz7| HZiof ol Mol 77| KIT FOLELH &3 = 1,520,000 126,000 304,000 24708
AR SiESh=E 2 siE XXMOIM HEAEE @38 3 AAIg 4~ A2 ofof HiEA| Satjof &
* JHQIRET Tt X[ (60%)2 7| =MeErgAt e XtakAS Zofelof sig




